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The Magic of the Right Triangle

CRITICAL



2500 years ago!

A teacher
Maybe even a gangster

Known for several things but
foremost is the Pythagorean
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"The sum of the squares on the
two short sides of a right
triangle equals the square on
the long side"”
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A Right Triangle
has a 90 degree
square corner

The sum of the Squares on the
.twa short sides of a right
triangle eqyqys the square op
the long sjge"



That s it!!!!]



Why are you still here???

Examples?
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After a while you quit sketching all the squares on the
edges of the triangle and just use a secret formula
that represents the idea in symbols

h
.ES euan The Su:? S
of £he +he 5('[;‘ 410



r a 12
cCza+b
"The sum of the squares on the

v w
ﬁQ two short sides of @ right
3 quare on

the
S¢uave The Suw _
e triangle equals the s

of fhe -
+he “"Lu)o

J ;
ﬂ‘g side_ - .\é«et Ty
2 Sh¥ sia\ﬁs t:;Sa . % the
try, S
f th qu /s th f Fo rfbb l /)e
\_/\/\/ e lon, .59 J
'EL\ e g s a e
d£5 uave The SUWM GP € o
e uu..VCS 9 ._t aa
J e 4 P
0"6 Swan_ Og t"LUJD ﬂh Q,$ l "t
s



4 do
ngé%fqa
ca': 36+ 3|
2= (17
C =aA]llF
C:Ef~f(11?j--'--'---'

14.81665383
C= 10,32 undts

10'%_



One .Last thing to
think about!!
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Tons more practice

If all the other links and
worksheets are still

insufficient



Find the missing side of each triangle. Round your answers to the nearest tenth if necessary.
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11.9km 6.3 mi

14.7 km

!8.6 kms

I 14.1 mi 3



Pause and

1. Ifa=6and b = 8, thenc = ,0 ; Do

9. Ifa=7andb =24 thene=_ 2

8. Ifa=5and b =7, thenc = 8040

4, Ifa=7and b =9, thenc = “'40

5. Ifa=5and b = 12, thenc = ‘3 :




3. A ship left port and sailed 5 km east and then Pause and
7 km north. How far Do
was the ship from
the port then? Zkm 7 km

Port 5 km

0
The ship was about 8' ¢ km from the port.

4. What is the length of the lake shown below?
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16 km




. Ifc=25anda =24, thnb=_—T .  Pauseand

Do
. Ifc =41 andb=40,thena=j_.

. Ifec =61 anda = 60, then b = l\ .

1,97

. Ifc=25and b = 22, thena =

 Ifc=26anda =24 thenb=_ 10




5.

Alstown, Donville, and Maxburg are located as

§h?wn below. How many kilometres Donville

is it from Alstown to 13 km

Maxburg? .
Alstown Maxburg

vkm

It is about “‘5-3 km from Alstown to
Maxburg.

A sail is shaped as shown.

How high is the sail? e 15 m

The sail is "l m high. 9m







